CamocrosiTesibHast padoTra o Teme: «Pemenne cucrem JTuHeHBIX ypaBHeHnH MeTonoM I"aycca»

1 BapuaHT 2 BapuaHT
2x—-4y+3z=1 2X+y+2z=1
3X—-y+52=2 {3x—y+221
X—2y+4z=3 4X—y+5z=-3
2Xx—-y-32=0 4x+3y+2z=1

{x+3y—4z=—11 {2x—5y—3z=16
3X+2y—z2=7 3X+2y+4z=4
3X+2y—-z=-3 —X+2y+z2=7
{2xy+3z=21 (3xy+62:19
X+y—-2=-5 —4x+3y—-2=8
3 BapHAHT 4 BapuaHT
10x+4y+4z=1 5x-3y+2z=19
{x2y72:3 {4x+5y32:31
2X+Yy+5z2=0 3X+7y—-4z=31
2X—-y+272=-3 4x+y—-22=10
(x+2y—z:4 (x+3yz:1
3X+y+3z=3 3X-y+5z=1
4x—-y-5z=1 3Xx+4y+2z=5
{x+y22—6 {5x6y4z—3
3X—-2y—-6z2=-2 —-4x+5y+3z=1




